
E 3642-0516

1

2

3

4

5

8

9

10

11

12

13

14

15

16

17

19

18

20 20

21

22

23

24

25

26

27

7

6

28/29/30



E 3642-0516 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1  10009615          

2  21000909  DIN908-M10x1        

3  25008012  DIN7603-10x16x1        

4  10005353          

5  20013037          

6  25038007  DIN933-M8x20        

7  20029003  VSK 8        

8  10016090          

9  20025811          

10  25038009  DIN933-M8x30        

11  20029024  Nord-Lock 8,0        

12  11001896          

13  11001897          

14  25040028  DIN931-M8x45        

15  20029024  Nord-Lock 8,0        

16  11001894         

17  11001895         

18  25044026  DIN912-M12x35       

19  20029026  Nord-Lock 12,0       

20  25001151           

21  25017007           

22  11000758           

23  10016071           

24  10007370           

25  20029001  VSK 10         

26 2 21001018  DIN7991-M8x45-ISR         

27 2 25005003  DIN6798-V8,4         

28 0 20025528  DIN988-PS-56x72x0,1         

29 0 20025029  DIN988-PS-56x72x0,2         

30 0 20025378  DIN988-PS-56x72x0,5         

05.16        


